
Ερωτήσεις συµπλήρωσης 
 
1.  * Να συµπληρώσετε τα κενά στις ισότητες που ακολουθούν: 

i)   log5 2L=

ii)   log5 25 =L

iii)   log2 3L= −

iv)  log 1
2

3L= −  

v)   log ( )α
ρα  ,  ρ R= ∈L

vi)  log5 5 =L  

vii)  log6
1
6
=L  

viii)  log6 2L=  

ix)  lnL=2  

x)  lnL= −1 

 
 
2.  Να συµπληρώσετε τις παρακάτω ισότητες: 

i)  logα1 = L        vi)   logL k =
1
2

 

ii)     logαα     vii)  = L log     α = L
1
3

iii)  logα α  =L     viii)   logLα
2 =1

iv)       ix)    logLα = 1 logLα
3=3

v)  logα 
1
α

 =L     x)    logαL=0  
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